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London local elections (2010):
Map of boroughs and wards

32 boroughs
> 600 wards
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London local elections (2010):
Results
The position of candidates in the ballot is alphabetical

Results only for the three major parties (Lab, Cons, Lib Dem)

3

Two questions
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1. Does the candidate position in the ballot influence the 
number of votes received (or success achieved)?

2. If it does, is the influence different depending on the 
borough?
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Assignment 3
o Create a visualization (or two, but not more) to answer 

the two questions

o Send me the visualization(s) via private chat on Teams by 
Tuesday, October 25
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